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If a negative charge is released
from rest in an electric field, it
accelerates in a direction
opposite the direction of the
field
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The Sl unit of potential difference is
(the volt (V
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The electron volt is a unit of charge
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For a parallel combination of two

resistors R1 and R2 , the potential

difference across R1 is the same
as that across R2
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The number of electric field
lines drawn leaving a positive
charge is proportional to the
magnitude of the charge
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For a negative point charge,
electric field lines are directed
radially inward
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What is the magnitude of
the electric field caused
by positive charge

Q=1.62x107° C at point P
a distance d = 1.53 m.
from the charge?
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Two particles with 2.00 uC charges
are shown in the figure .The electric

potential at the origin is: (k=9><109
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An object having a net charge of
24uC is placed in a uniform electric
field of 610 N/C directed vertically.
What is the mass of this object if it
“floats” in the field?
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The magnitude of the electric
force between two protons is
2.30x10728 N. How far apart are
they? (qp= 1.6x10"19C)
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